
MATHS

BOOKS - MODERN PUBLICATION

NUMBER SYSTEMS

Example

1. Represent  and  on the number line.

Watch Video Solution

3

5
−

3

5

2. Find five rational number between 2 and -2.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_eoYmktBv4uZ4
https://dl.doubtnut.com/l/_ak4kfae5gobC


3. Find nine rational numbers between 0 and 0.1.

Watch Video Solution

4. Insert 100 rationals numbers between  and .

Watch Video Solution

−
5

13

8

13

5. Express  in the decimal form, by Long division.

Watch Video Solution

9

8

6. Express  in the decimal form, by Long division.

Watch Video Solution

−
17
8

https://dl.doubtnut.com/l/_ak4kfae5gobC
https://dl.doubtnut.com/l/_8AJfFE6UmMnC
https://dl.doubtnut.com/l/_2EIZ07mJZk5h
https://dl.doubtnut.com/l/_kyLaRDKDvyvt
https://dl.doubtnut.com/l/_GPMhkAD09cm6


7. Without actual division, find which of the following rational

numbers are terminating decimal fractions:

Watch Video Solution

5

64

8. Without actual division, find which of the following rational

numbers are terminating decimal fractions:

Watch Video Solution

13

24

9. Without actual division, find which of the following rational

numbers are terminating decimal fractions:

https://dl.doubtnut.com/l/_GPMhkAD09cm6
https://dl.doubtnut.com/l/_rjFGYjVYCYrO
https://dl.doubtnut.com/l/_T7fPTwjQUfj6
https://dl.doubtnut.com/l/_l4x1QUC3dA77


Watch Video Solution

23

80

10. Find the decimal representation of 

Watch Video Solution

2

3

11. Find the decimal representation of .

Watch Video Solution

−
2

15

12. Find the decimal representation of 

Watch Video Solution

33

26

https://dl.doubtnut.com/l/_l4x1QUC3dA77
https://dl.doubtnut.com/l/_gFG1u316T3aJ
https://dl.doubtnut.com/l/_8yS2uQOqqkd2
https://dl.doubtnut.com/l/_YjnLrvKFhGyJ
https://dl.doubtnut.com/l/_HR7OzmMAqmVA


13. Express the following in the form :


0.35

Watch Video Solution

p

q

14. Express the following in the form :


0.675

Watch Video Solution

p

q

15. Express the following in the form :


0.0028

Watch Video Solution

p

q

https://dl.doubtnut.com/l/_HR7OzmMAqmVA
https://dl.doubtnut.com/l/_nri9uEkSFbwv
https://dl.doubtnut.com/l/_TkNQVEcRe8DG


16. Express the following in the form

:


2.15

Watch Video Solution

p

q

17. Express the following in the form

:


25.6875

Watch Video Solution

p

q

18. Express the following as a fraction in simplest form

Watch Video Solution

0. 5̄

https://dl.doubtnut.com/l/_TajHc58yj2l1
https://dl.doubtnut.com/l/_ZBU96rTOcLtA
https://dl.doubtnut.com/l/_ik6735VcsH3J


19. Express the following as a fraction in simplest form

Watch Video Solution

1. 4̄

20. Express the following as a fraction in simplest form:

Watch Video Solution

0. ¯̄̄¯36

21. Express the following as a fraction in simplest form:

Watch Video Solution

0. ¯̄̄ ¯̄¯583

https://dl.doubtnut.com/l/_ik6735VcsH3J
https://dl.doubtnut.com/l/_qMi3mjyDSIQy
https://dl.doubtnut.com/l/_xAITCjv3Kinq
https://dl.doubtnut.com/l/_BoEQ4GAWDPOG
https://dl.doubtnut.com/l/_ZHi9eGVCTuSF


22. Express the following as a fraction in simplest form:

Watch Video Solution

0. ¯̄̄¯54

23. Express the following as a fraction in simplest form:

Watch Video Solution

0. ¯̄̄ ¯̄¯347

24. Express the following mixed recurring decimals in the form




Watch Video Solution

p

q

3. ¯̄̄¯45

https://dl.doubtnut.com/l/_ZHi9eGVCTuSF
https://dl.doubtnut.com/l/_5BUrQ6N09ixS
https://dl.doubtnut.com/l/_DbuaXvxwbyvy
https://dl.doubtnut.com/l/_tEFrptR4Qac3


25. Express the following mixed recurring decimals in the form




Watch Video Solution

p

q

13. ¯̄̄ ¯̄¯821

26. Prove that  is not a rational number.

Watch Video Solution

√2

27. Are the

square roots of all positive irrational? If no, give examples.

Watch Video Solution

https://dl.doubtnut.com/l/_tEFrptR4Qac3
https://dl.doubtnut.com/l/_26h7I5JAegAK
https://dl.doubtnut.com/l/_NkXiJhLlwiqs


28. Are the

cube roots of all positive irrational? If no, give examples.

Watch Video Solution

29. Write three numbers whose decimal expansions are non-

terminating non-recurring.

Watch Video Solution

30. Insert a rational and an irrational number between 3 and 4.

Watch Video Solution

31. Find two irrational numbers between 2 and 2.5

https://dl.doubtnut.com/l/_rNw9ke37gUxF
https://dl.doubtnut.com/l/_2UCdYqt4XKxA
https://dl.doubtnut.com/l/_DNGZnPQ6JYGU
https://dl.doubtnut.com/l/_0zKUcutKbuNe


Watch Video Solution

32. Find two irrational numbers between 0.12 and 0.13.

Watch Video Solution

33. Find three different irrational numbers between the

rational numbers .

Watch Video Solution

and
5

7

9

11

34. Prove that  is a irrational number.

Watch Video Solution

√5 − √3

https://dl.doubtnut.com/l/_0zKUcutKbuNe
https://dl.doubtnut.com/l/_BgJPU3AbVZnp
https://dl.doubtnut.com/l/_ajxZFvnVFcMb
https://dl.doubtnut.com/l/_rTHHjs4XkkAA


35. Examine whether the following are rational or irrational

Watch Video Solution

(√5 + 3)
2

36. Examine whether the following are rational or irrational

Watch Video Solution

(3 + √5)(3 − √5)

37. Examine whether the following are rational or irrational

Watch Video Solution

9

3√3

https://dl.doubtnut.com/l/_dRp2PEpYpdhF
https://dl.doubtnut.com/l/_DOHGIPDoBkRp
https://dl.doubtnut.com/l/_Ims0xkVNVIjO


38. Locate  on the number line.

Watch Video Solution

√2

39. Repersent  on the number line.

Watch Video Solution

√4.5

40. Visualise 2.665 on the number line,using successive

magnification.

Watch Video Solution

41. Visualise 3.765 on the number line, using successive

magnification.

https://dl.doubtnut.com/l/_HPIA6OP4bxq2
https://dl.doubtnut.com/l/_dUzyUlTh1dMj
https://dl.doubtnut.com/l/_NTrgdOtD7xD7
https://dl.doubtnut.com/l/_qypCydAsz7PA


Watch Video Solution

42. Rationalise the denominator of the following

Watch Video Solution

2

3√3

43. Rationalise the denominator of the following

Watch Video Solution

2√5

√11

44. Find the value to three places of decimals of the following,

it is given that:

https://dl.doubtnut.com/l/_qypCydAsz7PA
https://dl.doubtnut.com/l/_GzXFIusM9Xa0
https://dl.doubtnut.com/l/_IVGTqo2e9Lf4
https://dl.doubtnut.com/l/_dY6NBgB3Bh94


 and 


Watch Video Solution

√2 = 1.414, √5 = 2.236 √10 = 3.162

√2 + 1

√5

45. Find the value to three places of decimals of the following,

it is given that:

 and 


Watch Video Solution

√2 = 1.414, √5 = 2.236 √10 = 3.162

√10 − √5

√2

46. Rationalise the denominator of the following:

Watch Video Solution

1

3 + √2

https://dl.doubtnut.com/l/_dY6NBgB3Bh94
https://dl.doubtnut.com/l/_jrFYqpgeAzSr
https://dl.doubtnut.com/l/_Y5CQ7vkWew2D


47. Rationalise the denominator of the following:

Watch Video Solution

1

8 + 5√2

48. Rationalise the denominator of the following:

Watch Video Solution

6

√5 + √2

49. Rationalise the denominator of the following

Watch Video Solution

√3 + √2

√3 − √2

https://dl.doubtnut.com/l/_Y5CQ7vkWew2D
https://dl.doubtnut.com/l/_qoHa7vib3sEb
https://dl.doubtnut.com/l/_yxyLuyChgYeA
https://dl.doubtnut.com/l/_s2D332eqbrGD
https://dl.doubtnut.com/l/_KiYe07hEfHWg


50. Rationalise the denominator of the following 

Watch Video Solution

2√3 − √5

2√2 + 3√3

51. If a and b are rational numbes  find the

values of a and b.

Watch Video Solution

= a + b√3
2 + √3

2 − √3

52. If both a and b are rational number, find the values of a and

b in the following

Watch Video Solution

= a + b√15
√5 + √3

√5 − √3

https://dl.doubtnut.com/l/_KiYe07hEfHWg
https://dl.doubtnut.com/l/_w9FQmqjmcaxq
https://dl.doubtnut.com/l/_5aYIG3Ztmgf8


53. If both a and b are rational number, find the values of a and

b in the following

Watch Video Solution

= a − b√6
√2 + √3

3√2 − 2√3

54. If , find the value of .

Watch Video Solution

x = 3 + √8 x2 +
1

x2

55. Simplify:

Watch Video Solution

+
√3 + √2

√3 − √2

√3 − √2

√3 + √2

https://dl.doubtnut.com/l/_oOBrwwXB6AGB
https://dl.doubtnut.com/l/_RjCAojtEtecR
https://dl.doubtnut.com/l/_Np5oHcpdB6p7
https://dl.doubtnut.com/l/_FklcDW0e6SII


56. Prove that:

Watch Video Solution

+ + +
1

1 + √2

1

√2 + √3

1

√3 + √4

1

√4 + √5

57. If  find the value of .

Watch Video Solution

x =
1

2 − √3
x3 − 2x2 − 7x + 5

58. Evaluate:

 it is given that 

and 

Watch Video Solution

15

√10 + √20 + √40 − √5 − √80
√5 = 2.236

√10 = 3.162

https://dl.doubtnut.com/l/_FklcDW0e6SII
https://dl.doubtnut.com/l/_6kJPNnKcYYgw
https://dl.doubtnut.com/l/_XaSoS5hMuxBz


59. Simplify the following

Watch Video Solution

5 × 5
3
4

1
4

60. Simplify the following

Watch Video Solution

3
1
3

3
1
6

61. Simplify the following

Watch Video Solution

3 × 5
2
3

2
3

https://dl.doubtnut.com/l/_r3LznWc32z9B
https://dl.doubtnut.com/l/_5lhgtx1NI2u5
https://dl.doubtnut.com/l/_LtMNX3gxdi7Q
https://dl.doubtnut.com/l/_s6JBOcv2mdEN


62. Simplify the following

Watch Video Solution

(49)
1
2

63. Simplify the following

Watch Video Solution

27
2
3

64. Simplify the following

Watch Video Solution

64
1
3

https://dl.doubtnut.com/l/_s6JBOcv2mdEN
https://dl.doubtnut.com/l/_1IoC2jqOhXFC
https://dl.doubtnut.com/l/_0bSdVzGK1RFV


65. Simplify the following:

Watch Video Solution

1

3√4− 5

66. Simplify the following:

Watch Video Solution

(25) − × 3√16
1
3

67. Simplify the following:

Watch Video Solution

( )
256

81

5
4

https://dl.doubtnut.com/l/_7PVVBckCflLQ
https://dl.doubtnut.com/l/_aJAX9WAM14Ag
https://dl.doubtnut.com/l/_IGVK9Ft4unxu
https://dl.doubtnut.com/l/_BTlKnLK8GHIL


68. Simplify the following:

Watch Video Solution

√a− 2b3

69. Simplify the following:

Watch Video Solution

4√3√a
2

70. Simplify

Watch Video Solution

16 × 2n+ 1 − 4 × 2n

16 × 2n+ 2 − 2 × 2n+ 2

https://dl.doubtnut.com/l/_BTlKnLK8GHIL
https://dl.doubtnut.com/l/_9qOavCgWEKfB
https://dl.doubtnut.com/l/_FEcoTqDADRBU


71. Simplify

Watch Video Solution

( )
−

× [( )
−

+ ( )
3

]
81

16

3
4 25

9

3
2 5

2

72. If , find x

Watch Video Solution

5x− 3.32x− 8 = 225

73. If x,y,z are positive real numbers, prove that:

Watch Video Solution

√x− 1y. √y− 1z. √z − 1x = 1

https://dl.doubtnut.com/l/_MKrjGME2fr6R
https://dl.doubtnut.com/l/_Ye7MtZO9Si9f
https://dl.doubtnut.com/l/_PGIjH9RWktDJ


74. Let , find

rational numbers l and m.

Watch Video Solution

+ + = 1 + m√3
2 + √3

2 − √3

2 − √3

2 + √3

√3 − 1

√3 + 1

75. Simplify:

Watch Video Solution

÷
2 × 3 × 4

1
2

1
3

1
4

10− × 5
2
3

3
5

3 × 5−4
3

7
5

4− × 6
3
5

76. If , find the value of 

Watch Video Solution

p = , q =
√5 − √3

√5 + √3

√5 + √3

√5 − √3
p2 − pq + q2

p2 + pq + q2

https://dl.doubtnut.com/l/_8fjNVFej6EOA
https://dl.doubtnut.com/l/_y8OcsNEwZrcC
https://dl.doubtnut.com/l/_SO83BhoL31Ac
https://dl.doubtnut.com/l/_coYWp7ZxGhA8


77. If , then show that 

Watch Video Solution

√p + 2q + √p − 2q

√p + 2q − √p − 2q
qx2 − px + q = 0

78. Two classmates Salma and Anil simplified two different

expression during the revision hour and explained to each

other their simplifacitons, Salma explained simplification of

 and Anil explained simplification of 

. write both the simplification. what value

does it depict?

Watch Video Solution

√2

√5 + √3

√28 + √98 + √147

79. Ashwin went to a shopkeeper who was Mathematcis

graduate asked him that "Uncle I want chocolates to distribute

https://dl.doubtnut.com/l/_coYWp7ZxGhA8
https://dl.doubtnut.com/l/_PHKst5LT15pk
https://dl.doubtnut.com/l/_rDkjz7J2HEEL


among my friends for my birthday but I have no money to pay

for it."Shopkeeper says "I giving you two numbers

 and . find the values of thier sum,

prodcut sum of thier square and sum of thier cubes. then I will

give you one of these resulting values as number of chocolates

at free of cost:

Find all the four values.

Watch Video Solution

x =
1

3 − 2√2
y =

1

3 + 2√2

80. Ashwin went to a shopkeeper who was Mathematcis

graduate asked him that "Uncle I want chocolates to distribute

among my friends for my birthday but I have no money to pay

for it."Shopkeeper says "I giving you two numbers

 and . find the values of thier sum,

prodcut sum of thier square and sum of thier cubes. then I will

x =
1

3 − 2√2
y =

1

3 + 2√2

https://dl.doubtnut.com/l/_rDkjz7J2HEEL
https://dl.doubtnut.com/l/_ETmW1T2obkIu


give you one of these resulting values as number of chocolates

at free of cost:

Find all the four values.

Watch Video Solution

81. Is zero a rational number ? Can you write in the form 

where p and q are integers and  ?

Watch Video Solution

p

q

q ≠ 0

82. Find six ratinal numbers between 3 and 4.

Watch Video Solution

83. Find seven rational numbers between  and .
3

5

4

5

https://dl.doubtnut.com/l/_ETmW1T2obkIu
https://dl.doubtnut.com/l/_t3mjhI7ZcxS3
https://dl.doubtnut.com/l/_Z4CK92QhiipH
https://dl.doubtnut.com/l/_PaHxegkNv6fS


Watch Video Solution

84. State whether the following statements are true or false.

Give reasons for your answers:- Every natural number is a whole

number.

Watch Video Solution

85. State whether the following statements are true or false.

Give reasons for your answers:- Every integer is a whole

number.

Watch Video Solution

https://dl.doubtnut.com/l/_PaHxegkNv6fS
https://dl.doubtnut.com/l/_6NSaS1lJhkwm
https://dl.doubtnut.com/l/_BxD0SlpNR3wR


86. State whether the following statements are true. or false.

Give reasons for your answers. 

Every rational number is a whole number.

Watch Video Solution

87. State whether the following statements are true or false.

Give reasons for your answe.

Every irrational number is a real number.

Watch Video Solution

88. Are the following statement true and false ? Justify your

answer. Every point on the number line is of the form  ,

where m is a natural number.

√m

https://dl.doubtnut.com/l/_sCnzmmW6hCCH
https://dl.doubtnut.com/l/_ayW0PrMgov6T
https://dl.doubtnut.com/l/_sQrcWEJRgxz0


Watch Video Solution

89. State whether the following statements are true or false.

Give reasons for your answe.

Every real number is an irrational number.

Watch Video Solution

90. Are the square root of all positive integers irrational ? If no,

give an example of the square root of a number that is a

rational numebr.

Watch Video Solution

91. Show how  can be represented on the number line.√5

https://dl.doubtnut.com/l/_sQrcWEJRgxz0
https://dl.doubtnut.com/l/_4hznQCNdWtUa
https://dl.doubtnut.com/l/_0VXohsywf2kI
https://dl.doubtnut.com/l/_WMd6fCQGB7D3


Watch Video Solution

92. Write the following in decimal form and say what kind of

decimal expansion each has : .

Watch Video Solution

36

100

93. Write the following in decimal form and say what kind of

decimal expansion each
has : 

Watch Video Solution

1

11

94. Write the following in decimal form and say what kind of

decimal expansion each
has : 

Watch Video Solution

4
1

8

https://dl.doubtnut.com/l/_WMd6fCQGB7D3
https://dl.doubtnut.com/l/_WwieIsHBkNbL
https://dl.doubtnut.com/l/_kCnVm7lzXo3H
https://dl.doubtnut.com/l/_b0buB4e0JnHl


95. Write the following in decimal form and say what kind of

decimal expansion each has : .

Watch Video Solution

3

13

96. Write the following in decimal form and say what kind of

decimal expansion each has : .

Watch Video Solution

2

11

97. Write the following in decimal form and say what kind of

decimal expansion each
has : 

Watch Video Solution

329

400

https://dl.doubtnut.com/l/_b0buB4e0JnHl
https://dl.doubtnut.com/l/_ubO1qZYhZCS2
https://dl.doubtnut.com/l/_QQWpYNfTuJyc
https://dl.doubtnut.com/l/_QKUnFnECTyHa
https://dl.doubtnut.com/l/_uZazUq80txUa


98. You know that . Can you predict what the

decimal expansions of  are without actually

doing the long division? If so how?

Watch Video Solution

= 0. ¯̄¯̄¯̄¯̄¯̄¯̄142857
1

7

x , , ,
2

7

3

7

4

7

5

7

6

7

99. Express the following in the form , where p and q are

integers and  :- 

Watch Video Solution

p

q

q ≠ 0 0. 6̄

100. Express the following in the form , where p and q are

integers and  :- 

Watch Video Solution

p

q

q ≠ 0 0.47̄

https://dl.doubtnut.com/l/_uZazUq80txUa
https://dl.doubtnut.com/l/_YZICII0AbZjd
https://dl.doubtnut.com/l/_HoYib6w3cZMX
https://dl.doubtnut.com/l/_JOIJz0mGB9fE


101. Express the following in the form , where p and q are

integers and  :- 

Watch Video Solution

p

q

q ≠ 0 0. ¯̄̄ ¯̄¯001

102. Express 0.99999....... in the form . Are you surprised by

your answer ? Discuss why the answer makes sense with your

teacher and classmates.

Watch Video Solution

P

q

103. What is the maximum number of digits in the repeating

block of digits in the quotient while computing  ? Perform

the division to check your answer.

Watch Video Solution

1

17

https://dl.doubtnut.com/l/_JOIJz0mGB9fE
https://dl.doubtnut.com/l/_wdDI28g38OKZ
https://dl.doubtnut.com/l/_1IgdDMJ2a10H


104. Look at several examples of rational numbers in the form

, where p and q are integers with no common factors

other than 1 and having terminating decimal representations

(expansions). Can you guess what property q must satisfy ?

Watch Video Solution

(q ≠ 0)
P

q

105. Write three numbers whose decimal expansions are non-

terminating non-recurring.

Watch Video Solution

106. Find three different irrational numbers between the

rational numbers .

Watch Video Solution

and
5

7

9
11

https://dl.doubtnut.com/l/_jxPr1R3lMCM1
https://dl.doubtnut.com/l/_zEqgqZLSZEGr
https://dl.doubtnut.com/l/_xhyetn8jSWmj


107. Classify the following number as rational or irrational :

Watch Video Solution

√23

108. Classify the following numbers as rational or irrational :

.

Watch Video Solution

√225

109. Classify the following number as rational or irrational :

0.3796

Watch Video Solution

https://dl.doubtnut.com/l/_xhyetn8jSWmj
https://dl.doubtnut.com/l/_yQW4VWMVvDp9
https://dl.doubtnut.com/l/_uDZodHhFtG1k
https://dl.doubtnut.com/l/_FYoLGRpLdWmq
https://dl.doubtnut.com/l/_sVcTGLNgpuVz


110. Classify the following number as rational or irrational :

7.478478...

Watch Video Solution

111. Classify the following numbers as rational irrational

1.101001000100001

Watch Video Solution

112. Visualise 3.765 on the number line, using successive

magnification.

Watch Video Solution

https://dl.doubtnut.com/l/_sVcTGLNgpuVz
https://dl.doubtnut.com/l/_MzxbpNt4NrWK
https://dl.doubtnut.com/l/_DrEfJkgzglwV


113. Visualise  on the number line, up to 4 decimal places.

Watch Video Solution

4. ¯̄̄¯26

114. Classify the following numbers as rational or irrational :

Watch Video Solution

2 − √5

115. Classify the following numbers as rational or irrational :

.

Watch Video Solution

(3 + √23) − √23

https://dl.doubtnut.com/l/_GRiaQyllhDMh
https://dl.doubtnut.com/l/_E3H6xsMbNzwQ
https://dl.doubtnut.com/l/_bqJ4cvT0IEQf


116. Classify the following number as rational or irrational:

Watch Video Solution

2√7

7√7

117. Classify the following numbers as rational or irrational :

.

Watch Video Solution

1

√2

118. Classify the following numbers as rational or irrational : .

Watch Video Solution

2π

https://dl.doubtnut.com/l/_pIOWAsYzwaoz
https://dl.doubtnut.com/l/_aCG2RnXuniZL
https://dl.doubtnut.com/l/_rqFalFuLfwNS


119. Simplify each of the following expressions:

Watch Video Solution

(3 + √3)(2 + √2)

120. Simplify each of the following expressions:

Watch Video Solution

(3 + √3)(3 − √3)

121. Simplify each of the following expressions: 

Watch Video Solution

(√5 + √2)
2

https://dl.doubtnut.com/l/_qqziUpbtlAwn
https://dl.doubtnut.com/l/_jRulBXJM7jso
https://dl.doubtnut.com/l/_F9TTCCqSXJBo


122. Simplify each of the following expressions:

Watch Video Solution

(√5 − √2)(√5 + √2)

123. Recall,  is defined as the ratio of the circumference (say c)

of a circle to its diameter(say d). That is, . This seems to

contradict the fact that  is irrational. How will you resolve this

contradiction?

Watch Video Solution

π

π =
c

d

π

124. Represent  on the number line.

Watch Video Solution

√9.3

https://dl.doubtnut.com/l/_ssNDb2KXEpV4
https://dl.doubtnut.com/l/_5vp9iXwZAGW7
https://dl.doubtnut.com/l/_WSfa0bcvuHGy
https://dl.doubtnut.com/l/_IotCbRSt9ciF


125. Rationalise the denominator of the following: 

Watch Video Solution

1

√7

126. Rationalise the denominator of the following: 

Watch Video Solution

1

√7 − √6

127. Rationalise the denominator of the following: 

Watch Video Solution

1

√5 + √2

128. Rationalise the denominator of the following: 

Watch Video Solution

1

√7 − 2

https://dl.doubtnut.com/l/_IotCbRSt9ciF
https://dl.doubtnut.com/l/_CwmV6QaXlzSp
https://dl.doubtnut.com/l/_Y4LG8IuPPvAc
https://dl.doubtnut.com/l/_ox3utCE7mO2h


129. Find : .

Watch Video Solution

64
1
2

130. Find : .

Watch Video Solution

32
1
5

131. Find : .

Watch Video Solution

125− 1
3

132. Find : .

Watch Video Solution

9
3
2

https://dl.doubtnut.com/l/_ox3utCE7mO2h
https://dl.doubtnut.com/l/_NK4CNDNrORHv
https://dl.doubtnut.com/l/_N35vSmbl7V12
https://dl.doubtnut.com/l/_IQcwQMfrRVEb
https://dl.doubtnut.com/l/_JXqxLN05uWEB


133. Find : .

Watch Video Solution

32
2
5

134. Find : .

Watch Video Solution

16
3
4

135. Find : .

Watch Video Solution

125− 1
3

136. Simplify : 

Watch Video Solution

2 . 2
2
3

1
5

https://dl.doubtnut.com/l/_JXqxLN05uWEB
https://dl.doubtnut.com/l/_kIRCbK9FO1Xh
https://dl.doubtnut.com/l/_ySSGFHXeEub8
https://dl.doubtnut.com/l/_adk9lQ75If9r
https://dl.doubtnut.com/l/_FHxTmUV2o70k


137. Simplify : 

Watch Video Solution

( )
71

33

138. Simplify : 

Watch Video Solution

11
1
2

11
1
4

139. Simplify : 

Watch Video Solution

7 . 8
1
2

1
2

https://dl.doubtnut.com/l/_FHxTmUV2o70k
https://dl.doubtnut.com/l/_djEw8ZqFcgnC
https://dl.doubtnut.com/l/_520KkO6vsZDj
https://dl.doubtnut.com/l/_Ui0c5owSfKSv


140. If x and y be rational and irrational numbes respectively. Is

x+y necessarily an irrational number? Given an example in

support of your answer.

Watch Video Solution

141. Let x be rational and y be irrationa? Is xy necessarily

irrationa? Justify yoru answer by an example.

Watch Video Solution

142. State true or false

 is a rational number.

Watch Video Solution

√2

https://dl.doubtnut.com/l/_HGmzr08cKK5L
https://dl.doubtnut.com/l/_yZ07jwvxn3K2
https://dl.doubtnut.com/l/_zzTR574ox4Gn
https://dl.doubtnut.com/l/_YgCN1YKxn2L3


143. State whether the following statement is true or false?

Justify your answer.
 There are infinitely many integers between

any two integers.

Watch Video Solution

144. Number of rational numbers between 15 and 18 is.

Watch Video Solution

145. There are numbers which cannot be written in the form

 both are integers.

Watch Video Solution

, q ≠ 0, p, q
p

q

https://dl.doubtnut.com/l/_YgCN1YKxn2L3
https://dl.doubtnut.com/l/_nBhPLCGCcPm4
https://dl.doubtnut.com/l/_fZxfM5iXWDJA


146. The square of an irrational number is always rational.

Watch Video Solution

147.  is not a rational number as and  are not

integers.

Watch Video Solution

√12

√3
√12 √3

148.  is written is the form  and it is a rational

number.

Watch Video Solution

√15

√3
, q ≠ 0

p

q

https://dl.doubtnut.com/l/_m3XUgKFXxJQW
https://dl.doubtnut.com/l/_OHoo4CsvdGaY
https://dl.doubtnut.com/l/_qV5ETH02T1pd


149. Classify the following numbers as rational or irrational

with justification:

Watch Video Solution

√196

150. Classify the following numbers as rational or irrational

with justification:

Watch Video Solution

3√18

151. Classify the following numbers as rational or irrational with

justification:

√
9

27

https://dl.doubtnut.com/l/_4rjFhuW1CeoD
https://dl.doubtnut.com/l/_LgnNHf4t6T3e
https://dl.doubtnut.com/l/_g4JymSx8t2e2


Watch Video Solution

152. Classify the following numbers as rational or irrational with

justification:

Watch Video Solution

√28

√75

153. Classify the following numbers as rational or irrational with

justification:

0.5918

Watch Video Solution

https://dl.doubtnut.com/l/_g4JymSx8t2e2
https://dl.doubtnut.com/l/_HqbvHbJmGNNH
https://dl.doubtnut.com/l/_KXxax4JiD2IR


154. Classify the following numbers as rational or irrational

with justification:

Watch Video Solution

−√0.4

155. Classify the following numbers as rational or irrational with

justification:

Watch Video Solution

√12

√75

156. Classify the following numbers as rational or irrational with

justification:

(1 + √5) − (4 + √5)

https://dl.doubtnut.com/l/_1A7I4iain1tX
https://dl.doubtnut.com/l/_tGMimo61zHUk
https://dl.doubtnut.com/l/_SFaupmiJ5gti


Watch Video Solution

157. Classify the following numbers as rational or irrational with

justification:

10.124124

Watch Video Solution

158. Classify the following numbers as rational or irrational with

justification:

1.010010001

Watch Video Solution

https://dl.doubtnut.com/l/_SFaupmiJ5gti
https://dl.doubtnut.com/l/_HgLTXqZNIhNN
https://dl.doubtnut.com/l/_GMe5bPLRJSPf


159. Find which of the variables x,y,z and u represent rational

numbers and which irrational numbers:

Watch Video Solution

x2 = 5

160. Find which of the variables x,y,z and u represent rational

numbers and which irrational numbers:

Watch Video Solution

y2 = 9

161. Find which of the variables x,y,z and u represent rational

numbers and which irrational numbers:

z2 = 0.04

https://dl.doubtnut.com/l/_61fpcAnxgMjQ
https://dl.doubtnut.com/l/_CykAjASl6VWT
https://dl.doubtnut.com/l/_ifivNLbPGs7q


Watch Video Solution

162. Find which of the variables x,y,z and u represent rational

numbers and which irrational numbers:

Watch Video Solution

u2 =
17
4

163. Find three rational number between:

-1 and -2

Watch Video Solution

164. Find three rational number between:

0.1 and 0.11

https://dl.doubtnut.com/l/_ifivNLbPGs7q
https://dl.doubtnut.com/l/_WheBCjMIKUQk
https://dl.doubtnut.com/l/_7t1GVcVEmeXz
https://dl.doubtnut.com/l/_xscQ6QXfSMWt


Watch Video Solution

165. Find three rational number between:

 and 

Watch Video Solution

5

7

6

7

166. Find three rational number between:

 and 

Watch Video Solution

1

4

1

5

167. Insert a rational number and an irrational number between

the following:

2 and 3

https://dl.doubtnut.com/l/_xscQ6QXfSMWt
https://dl.doubtnut.com/l/_5U41dQgmdGHR
https://dl.doubtnut.com/l/_WV74wykbSr1o
https://dl.doubtnut.com/l/_XHAdPppWk78M


Watch Video Solution

168. Insert a rational number and an irrational number between

the following:

0 and 0.1

Watch Video Solution

169. Insert a rational number and an irrational number between

the following:

 and 

Watch Video Solution

1

3

1

2

https://dl.doubtnut.com/l/_XHAdPppWk78M
https://dl.doubtnut.com/l/_Yl2a0vGMj8Lb
https://dl.doubtnut.com/l/_JYWKvgF6MIns


170. Insert a rational number and an irrational number between

the following:

 and 

Watch Video Solution

−
2

5

1

2

171. Insert a rational number and an irrational number between

the following:

Watch Video Solution

0.15 and 0.16

172. Insert a rational number and an irrational number between

the following:

 and √2 √3

https://dl.doubtnut.com/l/_3WSFeew2Ls4p
https://dl.doubtnut.com/l/_mpDfN1uXEcZV
https://dl.doubtnut.com/l/_VsHP5njaBixP


Watch Video Solution

173. Insert a rational number and an irrational number between

the following:

2.357 and 3.121

Watch Video Solution

174. Insert a rational number and an irrational number between

the following:

Watch Video Solution

0.0001 and 0.001

https://dl.doubtnut.com/l/_VsHP5njaBixP
https://dl.doubtnut.com/l/_n1FfzDDP8ybX
https://dl.doubtnut.com/l/_4csbVvUXOlg2


175. Insert a rational number and an irrational number between

the following:

2.357 and 3.121

Watch Video Solution

176. Insert a rational number and an irrational number between

the following:

3.623623 and 0.484848

Watch Video Solution

177. Insert a rational number and an irrational number between

the following:

6.375289 and 6.375738

https://dl.doubtnut.com/l/_vR7v7wVuSuOx
https://dl.doubtnut.com/l/_JzlqJGp90NNr
https://dl.doubtnut.com/l/_pXKs9zlboGi1


Watch Video Solution

178. Represent the following numbers on the number line

7,7.2, , 

Watch Video Solution

−
3

2
−

12

5

179. Repesent  and  on the number line.

Watch Video Solution

√5, √10 √17

180. Represent geometrically the following numbers on the

number line

Watch Video Solution

√4.5

https://dl.doubtnut.com/l/_pXKs9zlboGi1
https://dl.doubtnut.com/l/_VtIfwgKPE8uK
https://dl.doubtnut.com/l/_c2LulSaCVOgq
https://dl.doubtnut.com/l/_yyNE4MlpIwwt


181. Represent geometrically the following numbers on the

number line

Watch Video Solution

√5.6

182. Represent geometrically the following numbers on the

number line

Watch Video Solution

√8.1

183. Represent geometrically the following numbers on the

number line

https://dl.doubtnut.com/l/_yyNE4MlpIwwt
https://dl.doubtnut.com/l/_08gptHUMYFQc
https://dl.doubtnut.com/l/_dwBX6Zo6rExC
https://dl.doubtnut.com/l/_Yl8UAfDD5mqA


Watch Video Solution

√2.3

184. Express the following in the form , where p and q are

integers and .


0.2

Watch Video Solution

p

q

q ≠ 0

185. Express the following in the form , where p and q are

integers and .


0.888……….

Watch Video Solution

p

q

q ≠ 0

https://dl.doubtnut.com/l/_Yl8UAfDD5mqA
https://dl.doubtnut.com/l/_91IQuVgWEEQm
https://dl.doubtnut.com/l/_Not2NxDPMEei


186. Express the following in the form , where p and q are

integers and .


Watch Video Solution

p

q

q ≠ 0

5. 2̄

187. Express the following in the form  , where p and q are

integers and . .

Watch Video Solution

p

q

q ≠ 0 0. ¯̄̄ ¯̄¯001

188. Express the following in the form , where p and q are

integers and .


0.2555…

Watch Video Solution

p

q

q ≠ 0

https://dl.doubtnut.com/l/_Dj6qlKbhtGMf
https://dl.doubtnut.com/l/_bWq88mXjdnxz
https://dl.doubtnut.com/l/_5iFzyBc9Z0X8


189. Express the following in the form , where p and q are

integers and .


Watch Video Solution

p

q

q ≠ 0

0.1̄ ¯̄̄34

190. Express the following in the form , where p and q are

integers and .


0.00323232……….

Watch Video Solution

p

q

q ≠ 0

191. Express the following in the form , where p and q are

integers and .


p

q

q ≠ 0

https://dl.doubtnut.com/l/_5iFzyBc9Z0X8
https://dl.doubtnut.com/l/_Xz7MCjPryEuR
https://dl.doubtnut.com/l/_Xxq6Pn0HVsFO
https://dl.doubtnut.com/l/_p1w33dQ7vuTT


0.404040………

Watch Video Solution

192. Show that 0.142857142857 =

Watch Video Solution

1

7

193. Simplify the following

Watch Video Solution

√45 − 3√20 + 4√5

194. Simplify the following

W t h Vid S l ti

+
√24

8

√54

9

https://dl.doubtnut.com/l/_p1w33dQ7vuTT
https://dl.doubtnut.com/l/_cfIwlDjvANPr
https://dl.doubtnut.com/l/_ZRMgN4RkngFb
https://dl.doubtnut.com/l/_z3vTbUmGFAgF


Watch Video Solution

195. Simplify the following

Watch Video Solution

4√12 × 7√6

196. Simplify the following

Watch Video Solution

4√28 ÷ 3√7

197. Simplify the following

Watch Video Solution

3√3 + 2√27 +
7

√3

https://dl.doubtnut.com/l/_z3vTbUmGFAgF
https://dl.doubtnut.com/l/_kwzIiygubq7n
https://dl.doubtnut.com/l/_hAeLt8M2lrUu
https://dl.doubtnut.com/l/_6eh91O6IvL0q


198. Simplify the following

Watch Video Solution

(√3 − √2)
2

199. Simplify the following

Watch Video Solution

5√81 − 8√216 + 153√32 + √225

200. Simplify the following

Watch Video Solution

+
3

√8

1

√2

https://dl.doubtnut.com/l/_6eh91O6IvL0q
https://dl.doubtnut.com/l/_0wpSYrMqLS0D
https://dl.doubtnut.com/l/_jFXNAgsf3hvA
https://dl.doubtnut.com/l/_2cen7nJxMVDG
https://dl.doubtnut.com/l/_0QhI2jpmU0hv


201. Simplify the following

Watch Video Solution

−
2√3

3

√3

6

202. Rationalise the denominator of the following

Watch Video Solution

2

3√3

203. Rationalise the denominator of the following

Watch Video Solution

√40

√3

https://dl.doubtnut.com/l/_0QhI2jpmU0hv
https://dl.doubtnut.com/l/_fspSrVB1zTGs
https://dl.doubtnut.com/l/_68MkByNw5amu


204. Rationalise the denominator of the following

Watch Video Solution

3 + √2

4√2

205. Rationalise the denominator of the following

Watch Video Solution

2 + √3

2 − √3

206. Rationalise the denominator of the following

Watch Video Solution

16

√41 − 5

https://dl.doubtnut.com/l/_ONRcAXQgPs2N
https://dl.doubtnut.com/l/_QF0ORLfUTPL6
https://dl.doubtnut.com/l/_K2xH1ko0piBB
https://dl.doubtnut.com/l/_McQ8Ac32QVQd


207. Rationalise the denominator of the following

Watch Video Solution

√6

√2 + √3

208. Rationalise the denominator of the following

Watch Video Solution

√3 + √2

√3 − √2

209. Rationalise the denominator of the following

Watch Video Solution

3√5 + √3

√5 − √3

https://dl.doubtnut.com/l/_McQ8Ac32QVQd
https://dl.doubtnut.com/l/_FWjH8B3gdpXq
https://dl.doubtnut.com/l/_NW1C9X0DftuE


210. Rationalise the denominator of the following

Watch Video Solution

4√3 + 5√2

√48 + √18

211. Find the values of a and b in each of the following

Watch Video Solution

= a − b√3
5 + 2√3

7 + 4√3

212. Find the values of a and b in each of the following

Watch Video Solution

= a + b√5
4 + 3√5

4 − 3√5

https://dl.doubtnut.com/l/_fQoWa53JB2YP
https://dl.doubtnut.com/l/_SfWmQfpRCEL6
https://dl.doubtnut.com/l/_TKp0g28OgXJV
https://dl.doubtnut.com/l/_64HJPRroubMA


213. If both a and b are rational number, find the values of a and

b in the following

Watch Video Solution

= a − b√6
√2 + √3

3√2 − 2√3

214. Find the values of a and b in each of the following

Watch Video Solution

− = a +
7 + √5

7 − √5

7 − √5

7 + √5

7√5b

11

215. If  then find the value of 

Watch Video Solution

a = 2 + √3 a −
1

a

https://dl.doubtnut.com/l/_64HJPRroubMA
https://dl.doubtnut.com/l/_uQhZWZhvGnrT
https://dl.doubtnut.com/l/_TmuwDcIT0gdM


216. Rationalise the denominator in each of the following and

hence evaluate by taking

 and  upto three places of

decimal : 

Watch Video Solution

√2 = 1.414, √3 = 1.732 √5 = 2.236

1

√3 + √2

217. Simplify:

Watch Video Solution

(13 + 23 + 33)
1
2

218. Simplify:

Watch Video Solution

( )
4

( )
− 12

( )
63

4

8

5

32

5

https://dl.doubtnut.com/l/_AXy3NHDWaezm
https://dl.doubtnut.com/l/_KFdSmHPgGT8f
https://dl.doubtnut.com/l/_t4gZpYC80gkX


219. Simplify:

Watch Video Solution

( − )
−

1

27

2
3

220. Simplify:

Watch Video Solution

[((625) − )
4
]

2
1
2

221. Simplify:

Watch Video Solution

9 × 27−1
3

1
2

3 × 3−1
6

2
3

https://dl.doubtnut.com/l/_t4gZpYC80gkX
https://dl.doubtnut.com/l/_idiVYLFJClxu
https://dl.doubtnut.com/l/_lWFJwuea1SEj
https://dl.doubtnut.com/l/_kuTN7Y5g8jr7


222. Simplify:

Watch Video Solution

64− [64 − 64 ]
1
3

1
3

2
3

223. Simplify:

Watch Video Solution

8 × 16
1
3

1
3

32− 1
3

224. Express  in the form , where p and q

are integers and .

Watch Video Solution

0.6 + 0. 7̄ + 0. ¯̄̄¯47
p

q

q ≠ 0

https://dl.doubtnut.com/l/_kuTN7Y5g8jr7
https://dl.doubtnut.com/l/_bijXmcIMMp0i
https://dl.doubtnut.com/l/_pDyeV4KZRYIP
https://dl.doubtnut.com/l/_JJkuY8CsUBL7


225. Simplify:

Watch Video Solution

− −
7√3

√10 + √3

2√5

√6 + √5

3√2

√15 + 3√2

226. If  find the value of


Watch Video Solution

√2 = 1.414, √3 = 1.732

+
4

3√3 + 2√2

3

3√3 + 2√2

227. If  then find the value of 

Watch Video Solution

a =
3 + √5

2
a2 +

1

a2

https://dl.doubtnut.com/l/_lMvgip6J2Ukz
https://dl.doubtnut.com/l/_1Okxea48Z8mo
https://dl.doubtnut.com/l/_YO4maBdO8AFB


Exercise

228. Simplify:

Watch Video Solution

+
√3 + √2

√3 − √2

√3 − √2

√3 + √2

229. Simplify

Watch Video Solution

(256)
4

− 3
2

230. Find the value of 

Watch Video Solution

+ +
4

(216)
2
3

1

(256)
3
4

2

(243) − 2
5

https://dl.doubtnut.com/l/_umSoRSBGb8td
https://dl.doubtnut.com/l/_vXzmyP7f76KF
https://dl.doubtnut.com/l/_K5jJDejJvwOa


1. Represent each of the following rational numbers on the

number line

3

Watch Video Solution

2. Represent each of the following rational numbers on the

number line

5

Watch Video Solution

3. Represent each of the following rational numbers on the

number line

-3

https://dl.doubtnut.com/l/_4h9K3KoE0LcQ
https://dl.doubtnut.com/l/_RTUltzDkuIno
https://dl.doubtnut.com/l/_hIWBm38hsyUF


Watch Video Solution

4. Represent each of the following rational numbers on the

number line

-7

Watch Video Solution

5. Find a rational number between

-2 and 6.

Watch Video Solution

6. Find a rational number between

 and 
1

4

1

3

https://dl.doubtnut.com/l/_hIWBm38hsyUF
https://dl.doubtnut.com/l/_oinC5KoD8xCl
https://dl.doubtnut.com/l/_DB2r3LIP7q3P
https://dl.doubtnut.com/l/_SjQGm06sxpMT


Watch Video Solution

7. Find a rational number between

 and 

Watch Video Solution

1

4

1

3

8. Find a rational number between

 and 

Watch Video Solution

−
3

4
−

2

5

9. Find a rational number between

0.75 and 1.2

Watch Video Solution

https://dl.doubtnut.com/l/_SjQGm06sxpMT
https://dl.doubtnut.com/l/_FfNAGUEhBwt6
https://dl.doubtnut.com/l/_kTATvVE3IKMo
https://dl.doubtnut.com/l/_h26fUe5BwLyY


10. Find three rational numbers between -2 and 5

Watch Video Solution

11. Find three rational numbers between

 and 

Watch Video Solution

1

5

1

4

12. Represent each of the following rational numbers on the

number line

Watch Video Solution

3

7

https://dl.doubtnut.com/l/_h26fUe5BwLyY
https://dl.doubtnut.com/l/_n1BrvL2LxVf0
https://dl.doubtnut.com/l/_ASHdR8B6A2Er
https://dl.doubtnut.com/l/_sAEwoUaqCg7P
https://dl.doubtnut.com/l/_J3wtM53M3KZU


13. Represent each of the following rational numbers on the

number line

Watch Video Solution

7
3

14. Represent each of the following rational numbers on the

number line

1.5

Watch Video Solution

15. Represent each of the following rational numbers on the

number line

25

6

https://dl.doubtnut.com/l/_J3wtM53M3KZU
https://dl.doubtnut.com/l/_5oaTwyE53BT3
https://dl.doubtnut.com/l/_2oiCB5mHA3hz


Watch Video Solution

16. Find five rational numbers between  and 

Watch Video Solution

2

5

3

4

17. Find six rational numbers between 3 and 4.

Watch Video Solution

18. Insert 16 rational numbers between 2.1 and 2.2

Watch Video Solution

https://dl.doubtnut.com/l/_2oiCB5mHA3hz
https://dl.doubtnut.com/l/_G8uvYyr9D51I
https://dl.doubtnut.com/l/_9aBoobglKut6
https://dl.doubtnut.com/l/_t7WYCGP8fwtr


19. Without actual division, find which of the following rationals

are terminating decimals

Watch Video Solution

5

12

20. Without actual division, find which of the following

rationals are terminating decimals

Watch Video Solution

21

80

21. Without actual division, find which of the following rationals

are terminating decimals

16

35

https://dl.doubtnut.com/l/_ysR0t3q2rMbe
https://dl.doubtnut.com/l/_Zgdwy872PPcn
https://dl.doubtnut.com/l/_sWp4zk84BBer


Watch Video Solution

22. Without actual division, find which of the following rationals

are terminating decimals

Watch Video Solution

17
25

23. Express the following rationals numbers as decimals

Watch Video Solution

5

8

24. Express the following rationals numbers as decimals

7

25

https://dl.doubtnut.com/l/_sWp4zk84BBer
https://dl.doubtnut.com/l/_iohgEp1ztAs3
https://dl.doubtnut.com/l/_nP3buZQJ32ER
https://dl.doubtnut.com/l/_LZClWaXQhsXN


Watch Video Solution

25. Express the following rationals numbers as decimals

Watch Video Solution

9

16

26. Express the following rationals numbers as decimals

Watch Video Solution

327

507

27. Express the following rational numbers as decimals

Watch Video Solution

8

3

https://dl.doubtnut.com/l/_LZClWaXQhsXN
https://dl.doubtnut.com/l/_M6GfnFGcgAQf
https://dl.doubtnut.com/l/_Tv7Z0MKltowW
https://dl.doubtnut.com/l/_O3GQbd6SHAE7


28. Express the following rational numbers as decimals

Watch Video Solution

16

45

29. Express the following rational numbers as decimals

Watch Video Solution

1

7

30. Express the following rational numbers as decimals

Watch Video Solution

22

7

https://dl.doubtnut.com/l/_O3GQbd6SHAE7
https://dl.doubtnut.com/l/_TW0Z1KbFlLLm
https://dl.doubtnut.com/l/_Ze4OPqzXPMMC
https://dl.doubtnut.com/l/_00tHebCm5vsl
https://dl.doubtnut.com/l/_RsN8gQqPiWVW


31. Express the following in the form :


0.61

Watch Video Solution

p

q

32. Express the following in the form :


0.675

Watch Video Solution

p

q

33. Express the following in the form :


0.0028

Watch Video Solution

p

q

https://dl.doubtnut.com/l/_RsN8gQqPiWVW
https://dl.doubtnut.com/l/_PpcLPAoSwiL6
https://dl.doubtnut.com/l/_cJLGXin2nMFT


34. Express the following in the form :


0.35

Watch Video Solution

p

q

35. Express the following in the form :


9.90

Watch Video Solution

p

q

36. Express the following in the form :


1.0001

Watch Video Solution

p

q

https://dl.doubtnut.com/l/_hpO2cwFm6dFo
https://dl.doubtnut.com/l/_Uc4DwfmTsOVs
https://dl.doubtnut.com/l/_qKzPRk9CRfXB


37. Express the following in the form  , where p and q are

integers and . .

Watch Video Solution

p

q

q ≠ 0 0. 6̄

38. Express the following in the form :


Watch Video Solution

p

q

0. 8̄

39. Express the following in the form :


Watch Video Solution

p

q

2. 5̄

https://dl.doubtnut.com/l/_h5p8OSIT6FVn
https://dl.doubtnut.com/l/_FOday3VotYXX
https://dl.doubtnut.com/l/_wUj9AMXwRpjp


40. Express the following in the form :


Watch Video Solution

p

q

0. ¯̄̄¯37

41. Express the following in the form :


Watch Video Solution

p

q

0. ¯̄̄¯51

42. Express the following in the form :


Watch Video Solution

p

q

2. 5̄

https://dl.doubtnut.com/l/_CWRq7eYrEdsj
https://dl.doubtnut.com/l/_O2jx166UtOQv
https://dl.doubtnut.com/l/_Rm1t8CFS6eLW


43. Express the following in the form :


Watch Video Solution

p

q

0. ¯̄̄¯37

44. Express the following in the form :


Watch Video Solution

p

q

0. ¯̄̄¯51

45. Express the following in the form :


Watch Video Solution

p

q

0. ¯̄̄ ¯̄¯631

https://dl.doubtnut.com/l/_ZvCjw0o0eYS1
https://dl.doubtnut.com/l/_JVUFyBykzKYN
https://dl.doubtnut.com/l/_u5GeNWfdSFhz


46. Express the following in the form :


Watch Video Solution

p

q

0. ¯̄̄¯53

47. Express the following in the form :


Watch Video Solution

p

q

0. ¯̄̄ ¯̄¯547

48. Express the following in the form :


Watch Video Solution

p

q

0. ¯̄̄ ¯̄¯457

https://dl.doubtnut.com/l/_yp78PlashYCA
https://dl.doubtnut.com/l/_uZn6NCGB11Ti
https://dl.doubtnut.com/l/_coVcDGbCFHEC


49. Express the following in the form :


Watch Video Solution

p

q

3. ¯̄̄¯54

50. Express the following in the form :


Watch Video Solution

p

q

4.547̄

51. Express the following in the form :


Watch Video Solution

p

q

15. ¯̄̄ ¯̄¯831

https://dl.doubtnut.com/l/_YfCc6Qc2OLRg
https://dl.doubtnut.com/l/_lPWPhSqm6Ns7
https://dl.doubtnut.com/l/_p5J29eUzxLKY


52. Define an irrational number. How does it differ from rational

numbers.

Watch Video Solution

53. Examine, whether the following numbers are rational or

irrational:

Watch Video Solution

√5

54. Examine, whether the following numbers are rational or

irrational:

Watch Video Solution

√9

https://dl.doubtnut.com/l/_nsnYCLHRj8Eg
https://dl.doubtnut.com/l/_ihnkt6rjensJ
https://dl.doubtnut.com/l/_odZK8ob4ZYqF


55. Examine, whether the following numbers are rational or

irrational:

Watch Video Solution

√45

56. Examine, whether the following numbers are rational or

irrational:

Watch Video Solution

(5 − √2)(5 + √2)

57. Examine, whether the following numbers are rational or

irrational:

https://dl.doubtnut.com/l/_odZK8ob4ZYqF
https://dl.doubtnut.com/l/_jTWqB6FfNU8U
https://dl.doubtnut.com/l/_AlEcB0cIVbS2
https://dl.doubtnut.com/l/_vfGIQOck0N2R


Watch Video Solution

(√3 + √2)
2

58. Examine, whether the following numbers are rational or

irrational:

Watch Video Solution

√6 − 2

59. Examine, whether the following numbers are rational or

irrational:

Watch Video Solution

√
9

27

https://dl.doubtnut.com/l/_vfGIQOck0N2R
https://dl.doubtnut.com/l/_vSYpmSm6lt9x
https://dl.doubtnut.com/l/_UYXYwtnKtaQm
https://dl.doubtnut.com/l/_ZTgjefOoPrHz


60. Examine, whether the following numbers are rational or

irrational:

Watch Video Solution

−√81

61. Classify the following numbers as rational or irrational :

.

Watch Video Solution

√225

62. Examine, whether the following numbers are rational or

irrational:

2.131331333

Watch Video Solution

https://dl.doubtnut.com/l/_ZTgjefOoPrHz
https://dl.doubtnut.com/l/_c0sL3JVYmSIN
https://dl.doubtnut.com/l/_DB4w6IDSjXGd


63. Examine, whether the following numbers are rational or

irrational:

4.2576

Watch Video Solution

64. Examine, whether the following numbers are rational or

irrational:

5.040040004

Watch Video Solution

65. Examine, whether the following numbers are rational or

irrational:

2.346464646

https://dl.doubtnut.com/l/_yC56VemCwsiA
https://dl.doubtnut.com/l/_oVYQQfg2AwMQ
https://dl.doubtnut.com/l/_y3D1yruhdOzF


Watch Video Solution

66. In the following equation which variables represent rational

numbers and which irrational numbers:

Watch Video Solution

x2 = 3

67. In the following equation which variables represent rational

numbers and which irrational numbers:

Watch Video Solution

y2 = 16

https://dl.doubtnut.com/l/_y3D1yruhdOzF
https://dl.doubtnut.com/l/_XaSiwcb6mjGj
https://dl.doubtnut.com/l/_Q61hPyByyb35


68. In the following equation which variables represent rational

numbers and which irrational numbers:

Watch Video Solution

z2 = 0.09

69. In the following equation which variables represent rational

numbers and which irrational numbers:

Watch Video Solution

u2 =
15

4

70. Prove that  is an irrational number.

Watch Video Solution

√3 + √7

https://dl.doubtnut.com/l/_Tvh2MxrIzEFb
https://dl.doubtnut.com/l/_2574OWLpiInM
https://dl.doubtnut.com/l/_2YNo0Bk0TNVB
https://dl.doubtnut.com/l/_mmRvDfr0Z3b4


71. Prove that  is an irratinal number.

Watch Video Solution

√3

72. Prove that , n being not a perfect square, is not a

rational number.

Watch Video Solution

√n

73. Prove that  is an irrational number.

Watch Video Solution

√3 + √7

74. Find out the irrational number between 0.2101 and 0.222..=

0. 2̄

https://dl.doubtnut.com/l/_mmRvDfr0Z3b4
https://dl.doubtnut.com/l/_ZmyNcCTttFWM
https://dl.doubtnut.com/l/_UENzXLmC0kOJ
https://dl.doubtnut.com/l/_K8QGwI9Slc6j


Watch Video Solution

75. Find two irational numbers between

0.1 and 0.2

Watch Video Solution

76. Find two irational numbers between

 and 

Watch Video Solution

√2 √3

77. Find a rational number and an irratinal number between:

a=0.101001000100001………..and b=0.10001000100001

Watch Video Solution

https://dl.doubtnut.com/l/_K8QGwI9Slc6j
https://dl.doubtnut.com/l/_BLhlVODlizEI
https://dl.doubtnut.com/l/_pmwY91APa3ep
https://dl.doubtnut.com/l/_6aRVaen4GG6L


78. Find two rational numbers between:

a=2.232332333133332 and b=0.2525525555255557

Watch Video Solution

79. Add:

 and 

Watch Video Solution

(√3 + 2√2) (2√3 − 5√2)

80. Add:

 and 

Watch Video Solution

(3√3 − √2 + √5) (2√2 + 5√3 − 7√5)

https://dl.doubtnut.com/l/_6aRVaen4GG6L
https://dl.doubtnut.com/l/_rN1K4yxnoFNf
https://dl.doubtnut.com/l/_xvrZPyEU88dh
https://dl.doubtnut.com/l/_YxQKcwLcK40X
https://dl.doubtnut.com/l/_ahBBIMO3SFwi


81. Multiply

 by 

Watch Video Solution

3√7 2√7

82. Multiply

 by 

Watch Video Solution

3√28 2√7

83. Divide:

 by 

Watch Video Solution

16√6 4√2

https://dl.doubtnut.com/l/_ahBBIMO3SFwi
https://dl.doubtnut.com/l/_xwWZjUsUX7s2
https://dl.doubtnut.com/l/_jnO896C5ExZf


84. Divide:

 by 

Watch Video Solution

18√21 6√7

85. Simplify:

Watch Video Solution

(5 + √3)(5 − √3)

86. Simplify:

Watch Video Solution

(√5 + √2)(√2 − √3)

https://dl.doubtnut.com/l/_IoGiRnMQg4eC
https://dl.doubtnut.com/l/_7ssiQ9uvsE9N
https://dl.doubtnut.com/l/_BRxwW25Dm0gd


87. evaluate:

Watch Video Solution

(4 − √5)
2

88. Represent  and  on the number line.

Watch Video Solution

√5, √6 √7

89. Represent  and  on the number line.

Watch Video Solution

√3.5, √4.3 √8.47

90. Visualise 2.564 on the number line, using successive

magnifications.

https://dl.doubtnut.com/l/_z4LpAH33OVJx
https://dl.doubtnut.com/l/_E3JVRiWIvUgV
https://dl.doubtnut.com/l/_BSAfzfkW0LxC
https://dl.doubtnut.com/l/_ryKsvqgSVNV1


Watch Video Solution

91. Visualise  on the number line, upto 4 places of decimal.

Watch Video Solution

5.26̄

92. Rationalise the denominator of the following: 

Watch Video Solution

1

√7

93. Rationalise the denominator of each of the following

Watch Video Solution

1

√12

https://dl.doubtnut.com/l/_ryKsvqgSVNV1
https://dl.doubtnut.com/l/_CPIYe4qYTf68
https://dl.doubtnut.com/l/_JuSxDG5rpjbK
https://dl.doubtnut.com/l/_097nsJyRRQlf
https://dl.doubtnut.com/l/_fsgfiBi16Gqq


94. Rationalise the denominator of each of the following

Watch Video Solution

3

2√5

95. Rationalise the denominator of each of the following

Watch Video Solution

1

√5 − 2

96. Rationalise the denominator of each of the following

Watch Video Solution

16

√41 − 5

https://dl.doubtnut.com/l/_fsgfiBi16Gqq
https://dl.doubtnut.com/l/_N0UURgKGeQQh
https://dl.doubtnut.com/l/_8nMVz6Tig3XR


97. Rationalise the denominator of each of the following

Watch Video Solution

1

2√5 − √3

98. Rationalise the denominator of each of the following

Watch Video Solution

3 − 2√2

3 + 2√2

99. Rationalise the denominator of each of the following

Watch Video Solution

5 + 2√3

7 + 4√3

https://dl.doubtnut.com/l/_leFI3wNLvg6T
https://dl.doubtnut.com/l/_AFlKhn4tFKcv
https://dl.doubtnut.com/l/_mNaQ4dPp8LA2
https://dl.doubtnut.com/l/_82CsnHS3N3A9


100. Rationalise the denominator of each of the following

Watch Video Solution

2√3 − √5

2√2 + 3√5

101. Find the values of a and b in each of the following

Watch Video Solution

= a + b√3
√3 + 1

√3 − 1

102. Find the value of a and b in each of the following :

.

Watch Video Solution

= a + b√2
3 + √2

3 − √2

https://dl.doubtnut.com/l/_82CsnHS3N3A9
https://dl.doubtnut.com/l/_tm2dzkYodzx6
https://dl.doubtnut.com/l/_yrnyhHRX84Ti


103. Find the values of a and b in each of the following

Watch Video Solution

= a + b√5
4 + 3√5

4 − 3√5

104. Find the values of a and b in each of the following

Watch Video Solution

= a − b√3
5 + 2√3

7 + 4√3

105. Simplify the following

Watch Video Solution

+ √5 + 1
√5 − 1

√5 + 1

)

√5 − 1

https://dl.doubtnut.com/l/_IcysQouTK1Kz
https://dl.doubtnut.com/l/_Yle6JnuyB1UZ
https://dl.doubtnut.com/l/_p0OlQ9npoxDP
https://dl.doubtnut.com/l/_OrSYO6ILOqwV


106. Simplify the following

Watch Video Solution

−
7 + 3√5

3 + √5

7 − 3√5

3 − √5

107. Simplify the following

Watch Video Solution

+ +
1

2 + √3

2

√5 − √3

1

2 − √5

108. If  find the value of 

Watch Video Solution

x = 4 − √15 x +
1

x

109. If , find the value of .x = 3 + √8 x +
1

x

https://dl.doubtnut.com/l/_OrSYO6ILOqwV
https://dl.doubtnut.com/l/_ec54mzaCKWUq
https://dl.doubtnut.com/l/_hZTkXmQqD1pW
https://dl.doubtnut.com/l/_6tyMMq2aqmkC


Watch Video Solution

110. Find the value of  is given that  and 

.

Watch Video Solution

6

√5 − √3
√3 = 1.732

√5 = 2.236

111. If  find the value of 

Watch Video Solution

x =
√3 + 1

2
4x3 + 2x2 − 8x + 7

112. Prove that:

Watch Video Solution

− + − + = 5
1

3 − √8

1

√8 − √7

1

√7 − √6

1

√6 − √5

1

√5 − 2

https://dl.doubtnut.com/l/_6tyMMq2aqmkC
https://dl.doubtnut.com/l/_92hzFXbn3DF6
https://dl.doubtnut.com/l/_Atu4ueVdC02o
https://dl.doubtnut.com/l/_VAbEpe41Ak6M


113. Simplify the following

Watch Video Solution

(3 × 3 )
1
2

1
3

114. Simplify the following

Watch Video Solution

8
1
2

8
2
3

115. Simplify the following

Watch Video Solution

61 / 2 × 71 / 2

https://dl.doubtnut.com/l/_iDwv91autFIN
https://dl.doubtnut.com/l/_4Zn5Jeb54BTp
https://dl.doubtnut.com/l/_hoGjMk5snKfv
https://dl.doubtnut.com/l/_XfYsEWugEQID


116. Simplify the following

Watch Video Solution

(49)
1
2

117. Simplify the following

Watch Video Solution

322 / 5

118. Simplify the following

Watch Video Solution

81− 1 / 4

https://dl.doubtnut.com/l/_XfYsEWugEQID
https://dl.doubtnut.com/l/_cYHba9SRUKDj
https://dl.doubtnut.com/l/_3dqobiPvYiuI


119. Simplify the following

Watch Video Solution

25 / 8 × 35 / 8

120. Simplify the following

Watch Video Solution

31 / 4 × 51 / 4

121. Simplify the following

Watch Video Solution

(16− )
1
5

5
2

https://dl.doubtnut.com/l/_bkv21T3Z35WF
https://dl.doubtnut.com/l/_rIgcBqVXFUQi
https://dl.doubtnut.com/l/_K3igWFbeRHUE


122. Simplify the following

Watch Video Solution

(0.001)
1
3

123. Simplify the following

Watch Video Solution

( )

8

÷ ( )

13
√2

5

√2

5

124. Evaluate 

Watch Video Solution

(25)
3 / 2

× (243)
3 / 5

(16)5 / 4 × (8)4 / 3

https://dl.doubtnut.com/l/_XyQMUJ2TSGBN
https://dl.doubtnut.com/l/_eSLrWuustCy1
https://dl.doubtnut.com/l/_ZIzqIsowsw87
https://dl.doubtnut.com/l/_RAl3d1uzIEZz


125. Prove that:

Watch Video Solution

√ + (0.01) − − (27) =
1

4

1
2

2
3

3

2

126. prove: 

Watch Video Solution

=
2n + 2n− 1

2n+ 1 − 2n
3

2

127. Prove that:

Watch Video Solution

93 / 2 − 3 × 50 − ( )
−

= 15
1

81

1
2

https://dl.doubtnut.com/l/_RAl3d1uzIEZz
https://dl.doubtnut.com/l/_aqf1awYMmMKe
https://dl.doubtnut.com/l/_8HXd7F1CFiqG


128. Evaluate 

Watch Video Solution

(0.6)
0

− (0.1)
− 1

( )
− 1
( )

3
+ ( )

− 1
3
8

3
2

− 1
3

129. Prove that:

Watch Video Solution

+ =
a− 1

a− 1 + b− 1

a− 1

a− 1 − b− 1

2b2

b2 − a2

130. Find the value of x in the following

Watch Video Solution

(23)
4

= (22)
x

https://dl.doubtnut.com/l/_R6jtAqCSfqzR
https://dl.doubtnut.com/l/_DlVrpzpEpcnV
https://dl.doubtnut.com/l/_WjeRgTR9fb7u
https://dl.doubtnut.com/l/_dJEL6JjHCTTB


131. Find the value of x in the following

Watch Video Solution

5x− 2 × 32x− 3 = 135

132. Find the value of x in the following

Watch Video Solution

2x− 7 × 5x− 4 = 1250

133. Find the value of x in the following

Watch Video Solution

27x =
9

3x

https://dl.doubtnut.com/l/_dJEL6JjHCTTB
https://dl.doubtnut.com/l/_Gyy1O1yt7amx
https://dl.doubtnut.com/l/_yyLiD8vhxxmn


134. If , prove that m-n=1.

Watch Video Solution

=
9n × 32 × (3n) − 27n

33m × 23

1

27

135. Find a rational number between  and 

Watch Video Solution

−
2

3

1

4

136. Express  in decimal form.

Watch Video Solution

7

8

137. Express  in the form .

Watch Video Solution

0. 4̄
p

q

https://dl.doubtnut.com/l/_7VRrg8bVbO60
https://dl.doubtnut.com/l/_vpENDao9nnej
https://dl.doubtnut.com/l/_PBPbT1mfZrMu
https://dl.doubtnut.com/l/_nbSJlbuHol7T


138. Explain, how irrational number differ from rational number.

Watch Video Solution

139. Give an example of two irrational numbers whose

difference is a rational number.

Watch Video Solution

140. Simplify

Watch Video Solution

(x− y− )
22

3
1
2

https://dl.doubtnut.com/l/_V0wj2unT2HDE
https://dl.doubtnut.com/l/_2cHxWiOLE7d1
https://dl.doubtnut.com/l/_JHAugQn5gkd5


141. Simplify:

Watch Video Solution

( )
x− 4

y− 10

5
4

142. If , find x.

Watch Video Solution

27x =
9

3x

143. Find the value of x in the following

Watch Video Solution

2x− 7 × 5x− 4 = 1250

https://dl.doubtnut.com/l/_WBe2JJu6DXzx
https://dl.doubtnut.com/l/_8Sg5wlJhcxXy
https://dl.doubtnut.com/l/_AhFYH4SoClvO


144. Write the value of 

Watch Video Solution

(4 + √3)(4 − √3)

145. If , what is the value of 

Watch Video Solution

x = √3 − 1
1

x

146. If  find the value of 

Watch Video Solution

x = 3 + 2√2 √x −
1

√x

147. Simplify: 

Watch Video Solution

+
1

(27)
− 1

3

1

(625)
− 1

4

https://dl.doubtnut.com/l/_T7ZEIhVZVlmE
https://dl.doubtnut.com/l/_K7MCrVGkQMg2
https://dl.doubtnut.com/l/_wTQUnHPd825t
https://dl.doubtnut.com/l/_0geVCGjIfjNw


148. Rationalise: 

Watch Video Solution

5√3 − 4√2

4√3 + 3√2

149. Write the difference of an irrational and a rational number.

Watch Video Solution

150. Find the value of 

Watch Video Solution

(13 + 23 + 33)
− 3

2

151. If , find x.

Watch Video Solution

(52)
7

= 125x

https://dl.doubtnut.com/l/_0geVCGjIfjNw
https://dl.doubtnut.com/l/_65avXT5UCwmL
https://dl.doubtnut.com/l/_5gP1K7jeGzg7
https://dl.doubtnut.com/l/_fFdZ8C27PPd0
https://dl.doubtnut.com/l/_C2OiwEo6qONY


152. Show that 0.142857142857 =

Watch Video Solution

1

7

153. Rationalise: 

Watch Video Solution

3 + √2

4√2

154. Find x, where 

Watch Video Solution

3 + 2x = (64) + (27)
1
2

2
3

155. Evaluate: 

W h Vid S l i

0. 6̄ + 0. 3̄ − 0. ¯̄̄¯11

https://dl.doubtnut.com/l/_C2OiwEo6qONY
https://dl.doubtnut.com/l/_k2qhjmE6zzbg
https://dl.doubtnut.com/l/_QOlLmgzLskDY
https://dl.doubtnut.com/l/_FA2diMQAfv9O
https://dl.doubtnut.com/l/_rIL8NYpDs01H


Watch Video Solution

156. Arrange in descending order:

Watch Video Solution

3√5, 6√26, 4√8, √2

157. If , find x.

Watch Video Solution

( )
x− 1

= ( )
x− 5

a

b

b

a

158. True/false

Every rational numbre is a whole number.

Watch Video Solution

https://dl.doubtnut.com/l/_rIL8NYpDs01H
https://dl.doubtnut.com/l/_JJ3yBaIU5HGN
https://dl.doubtnut.com/l/_AnGTHfXkHTj5
https://dl.doubtnut.com/l/_AAMNI40npAUy
https://dl.doubtnut.com/l/_630TZzK6YA2X


159. True/false

Every whole number is a rational number.

Watch Video Solution

160. True/false

0 is the smallest natural number.

Watch Video Solution

161. True/false

 lis on the left on the number line.

Watch Video Solution

−
5

8

https://dl.doubtnut.com/l/_630TZzK6YA2X
https://dl.doubtnut.com/l/_RGOyZpiemo3a
https://dl.doubtnut.com/l/_5kQq9tKRZEVf


162. True/false

-300000000 cannot be represent on the number line.

Watch Video Solution

163. True/false

 is a rational yet  is irrational.

Watch Video Solution

22

7
π

164. True/false

 is a rational number.

Watch Video Solution

π

https://dl.doubtnut.com/l/_xrs4cXTT3Vv1
https://dl.doubtnut.com/l/_fVELfYSfdIFB
https://dl.doubtnut.com/l/_dBWFMbmiKJIE


165. Between 42.1 and 42.3 there are two irrational numbers.

Watch Video Solution

166. Are the square root of all positive integers irrational ? If no,

give an example of the square root of a number that is a

rational numebr.

Watch Video Solution

167. Product of two rational numbers is

Watch Video Solution

https://dl.doubtnut.com/l/_PUpppLz53g4e
https://dl.doubtnut.com/l/_bcvJSUnH5GYl
https://dl.doubtnut.com/l/_YBgICdJ5Ivzd


168. Fill ups

A rational number between two rational number a and b

is………...

Watch Video Solution

169. Fill ups

 is an…………..number.

Watch Video Solution

π

170. Fill ups

Rationalising factor of  is………..

Watch Video Solution

3√7 + 5

https://dl.doubtnut.com/l/_vWoz5NrfAbdh
https://dl.doubtnut.com/l/_fBPE9nuYh0ea
https://dl.doubtnut.com/l/_J9nKKQIG4XwB
https://dl.doubtnut.com/l/_2oDDYQnyY8yQ


171. Fill ups

Rationalising factor of  is…………..

Watch Video Solution

√7 + √3

172. If , find x.

Watch Video Solution

(52)
7

= 125x

173. Fill ups

Decimal form of  is……………

Watch Video Solution

−
16

45

https://dl.doubtnut.com/l/_2oDDYQnyY8yQ
https://dl.doubtnut.com/l/_XOixQfVEKwWL
https://dl.doubtnut.com/l/_WE3b9KJXz8yw


174. Fill ups

If , then the value of =………..

Watch Video Solution

x + = √6
1

x
x2 +

1

x2

175. Fill ups

If n is a natural number other than a perfect square then  is

a(an)………….number.

Watch Video Solution

√n

176. Fill ups

There lies……………rational numbers between two given rational

number.

Watch Video Solution

https://dl.doubtnut.com/l/_r2O74KONaVjy
https://dl.doubtnut.com/l/_PW5vmc4KPiNd
https://dl.doubtnut.com/l/_kDdXkTt3FcYm


177. Fill ups

 in  form is………………… .

Watch Video Solution

0. ¯̄̄¯27
p

q

178. Which of the following statements is true?

A. product of a rational and an irrational number is always

irrational.

B. sum of an integer and a rational number can never be an

integer

C. prodcut of two irrational number is alwaus irrational

D. sum of two irrational number can never be irrational

https://dl.doubtnut.com/l/_kDdXkTt3FcYm
https://dl.doubtnut.com/l/_UwcUAR2IcrUc
https://dl.doubtnut.com/l/_sBpcq0ctVtPE


Answer:

Watch Video Solution

179. Which of the following is irrational?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√4
9

√81

4
5

√7

https://dl.doubtnut.com/l/_sBpcq0ctVtPE
https://dl.doubtnut.com/l/_Cwmth37Xvu28


180. Which of the following numbers can be represented as

non-terminating repeating decimals?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3

16

137
25

39

24

3

11

181. The numbers  in the form , where p and q are

integers and  is

A. 

1. ¯̄̄¯27
p

q

q ≠ 0

14
11

https://dl.doubtnut.com/l/_UdfFOEanXzA0
https://dl.doubtnut.com/l/_9IysdQW0Dtmi


B. 

C. 

D. 

Answer:

Watch Video Solution

14
9

14
15

14
13

182. The value of  is

A. 

B. 

C. 

D. 

Answer:

0. ¯̄̄¯23 + 0. ¯̄̄¯22

0. ¯̄̄¯45

0. ¯̄̄¯42

0. ¯̄̄¯45

0. ¯̄̄¯43

https://dl.doubtnut.com/l/_9IysdQW0Dtmi
https://dl.doubtnut.com/l/_uysHn61MuBPk


Watch Video Solution

183. Which of the following is irrational?

A. 

B. 

C. 0.3232232223

D. 0.

Answer:

Watch Video Solution

0.321

0. ¯̄̄ ¯̄¯321

¯̄̄¯32

184. The decimal representation of an irrational number is

A. always terminating

https://dl.doubtnut.com/l/_uysHn61MuBPk
https://dl.doubtnut.com/l/_miFQYuwkzYQ8
https://dl.doubtnut.com/l/_I8fl0JLYrfLl


B. neither terminating nor repeating

C. either terminating or repeating

D. either terminating or non-repeating.

Answer:

Watch Video Solution

185. Which of the following is a true statement?

A.  and  are both rationals

B.  are rational and  is irrational

C.  and 22/7` are both irrationals.

D.  is a irrational and  is rational

Answer:

π
22

7

π
22

7

π

π
22

7

https://dl.doubtnut.com/l/_I8fl0JLYrfLl
https://dl.doubtnut.com/l/_YjjlxFjzUUR3


Watch Video Solution

186. =

A. 2

B. 

C. 

D. 

Answer:

Watch Video Solution

3√2 × 4√2 × 12√32

4√2

√2

2√2

187. On rationalising the denominator of =

A. 

1

√4 − √3

(2 + √3)

https://dl.doubtnut.com/l/_YjjlxFjzUUR3
https://dl.doubtnut.com/l/_HluwJwIbAwxe
https://dl.doubtnut.com/l/_oFsjA9z0Llcq


B. 1

C. 

D. None of these

Answer:

Watch Video Solution

(2 − √3)

188. If x= , then =

A. 48

B. 49

C. 14

D. 

Answer:

(7 + 4√3) (x + )
1

x

8√3

https://dl.doubtnut.com/l/_oFsjA9z0Llcq
https://dl.doubtnut.com/l/_efvOcFcZhfMB


Watch Video Solution

189. If  then =

A. 0.375

B. 0.441

C. 0.378

D. none of these

Answer:

Watch Video Solution

√7 = 2.646
1

√7

190. If  then  is equal to :√2 = 1.4142 √
√2 − 1

√2 + 1

https://dl.doubtnut.com/l/_efvOcFcZhfMB
https://dl.doubtnut.com/l/_i0EmwudJcdRZ
https://dl.doubtnut.com/l/_JT9DRGrkzUXC


A. 2.414

B. 0.207

C. 0.621

D. 0.414

Answer:

Watch Video Solution

191. The simplest form of  is

A. 

B. 

C. 

D. none of these

0. ¯̄̄¯32

16

45

29

90

32

99

https://dl.doubtnut.com/l/_JT9DRGrkzUXC
https://dl.doubtnut.com/l/_eHB7RopE4nbZ


Answer:

Watch Video Solution

192. An irrational number between 5 and 6 is

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

√5 + 6

(5 + 6)
1

2

√5 × 6

193. When simplified  is equal to(x− 1 + y− 1)
− 1

https://dl.doubtnut.com/l/_eHB7RopE4nbZ
https://dl.doubtnut.com/l/_RHpTMLtDQ4Oh
https://dl.doubtnut.com/l/_w8DzF1XHePZ4


A. xy

B. 

C. x+y

D. 

Answer:

Watch Video Solution

xy

x + y

x + y

xy

194. If  , which statement must be true?

A. 1) 

B. 2) 

C. 3) 

D. 4) 

0 < y < x

√x − √y = √x − y

x√y = y√x

√x + √x = √2x

√xy = √x√y

https://dl.doubtnut.com/l/_w8DzF1XHePZ4
https://dl.doubtnut.com/l/_pXjerfJ6mvaV


Answer:

Watch Video Solution

195. If  and x>0, then x=


a. 

b. 4

c. 64

d. 

A. 

B. 4

C. 64

D. 

Answer:

= 8x− 1x

x1.5

2√2

√2

4

2√2

√2

4

https://dl.doubtnut.com/l/_pXjerfJ6mvaV
https://dl.doubtnut.com/l/_ilaCRr381Ywu


Watch Video Solution

196.  equals

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4√3√2
2

2− 1 / 6

4√6

2
1
6

26

197. Which of the following is not euqal to ?( )
−100

9

3
2

https://dl.doubtnut.com/l/_ilaCRr381Ywu
https://dl.doubtnut.com/l/_0Fe4sBISuvV6
https://dl.doubtnut.com/l/_sgioBi8PdAbU


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( )
9

100

3
2

× ×
3

10

3

10

3

10

1

( )
3 / 2

100
9

√ × ×
100

9

100

9

100

9

198. If a,b,c are positive real numbers

 is equal to

A. 

B. 1

C. abc

√a− 1b × √b− 1c × √c− 1a

√abc

https://dl.doubtnut.com/l/_sgioBi8PdAbU
https://dl.doubtnut.com/l/_yOpTojWKidUy


D. 

Answer:

Watch Video Solution

1

abc

199. If a,b,c are positive real number, then  is

equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

5√3125a10b5c10

5a2bc2

5a3bc3

25ab2c

125a2bc2

https://dl.doubtnut.com/l/_yOpTojWKidUy
https://dl.doubtnut.com/l/_YEIe0O32FQiC


200. The value of 

A. 2

B. 7

C. 

D. 

Answer:

Watch Video Solution

⎡
⎢
⎣
{( )

− 2

}

1 / 4
1

72

−
1

3

1

4

201. If , then x=

A. -3

= 3735x × 812 × 6561

32x

https://dl.doubtnut.com/l/_YEIe0O32FQiC
https://dl.doubtnut.com/l/_46Cmmv2EJqeh
https://dl.doubtnut.com/l/_otsN83BLdn4I


B. 3

C. 

D. 

Answer:

Watch Video Solution

−
1

3

1

4

202. Every rational number is:

A. a natural number

B. an integer

C. a real number

D. a whole number

Answer:

https://dl.doubtnut.com/l/_otsN83BLdn4I
https://dl.doubtnut.com/l/_6Glc2cTfBhCl


Watch Video Solution

203. Fill in the blanks : 

Between two rational numbers there exist ………. Rational

numbers.

A. there is not rational number

B. there are exactly one rational number

C. there are infinitely many rational numbers

D. there are only rational numebr and no irrational

numbers.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_6Glc2cTfBhCl
https://dl.doubtnut.com/l/_MeSjtutiMMfY
https://dl.doubtnut.com/l/_qAurfRcOVHzF


204. Decimal repesentation of a rational number cannot be:

A. terminating

B. non-terminating

C. non-terminating repeating

D. non-terminating non-repeating

Answer:

Watch Video Solution

205. The decimal expansion of the number  is

A. a finite decimal

B. 1.41421

C. non-terminating recurring

√2

https://dl.doubtnut.com/l/_qAurfRcOVHzF
https://dl.doubtnut.com/l/_WfPA2t496NWG


D. non-terminating non-recurring.

Answer:

Watch Video Solution

206. Which of the following is irrational?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√4
9

√12

√3

√7

√81

https://dl.doubtnut.com/l/_WfPA2t496NWG
https://dl.doubtnut.com/l/_6XwmNwzcLsxU
https://dl.doubtnut.com/l/_CzKvCidkoDSJ


207. Which of the following is irrational?

A. 0.14

B. 

C. 

D. 0.4014001400014..

Answer:

Watch Video Solution

0.14̄ ¯̄̄16

0. ¯̄¯̄̄ ¯̄¯1416

208. A rational number between  and  is

A. 

B. 

√2 √3

√2 + √3

2

√2 × √3

2

https://dl.doubtnut.com/l/_CzKvCidkoDSJ
https://dl.doubtnut.com/l/_mT6H9p2yoBqj


C. 1.5

D. 1.8

Answer:

Watch Video Solution

209. The value of 1.999 in thr form p/q, where p and q are

integers and  is

A. 

B. 

C. 2

D. 

Answer:

q ≠ 0

19

10

1999

1000

1

9

https://dl.doubtnut.com/l/_mT6H9p2yoBqj
https://dl.doubtnut.com/l/_0XermgCRYIYw


Watch Video Solution

210.  is equal to

A. 

B. 6

C. 

D. 

Answer:

Watch Video Solution

2√3 + √3

2√6

3√3

4√6

211.  is equal to

A. 

√10 × √15

6√5

https://dl.doubtnut.com/l/_0XermgCRYIYw
https://dl.doubtnut.com/l/_efz0LNyCKddz
https://dl.doubtnut.com/l/_fXXM2OxeZfhb


B. 

C. 

D. 

Answer:

Watch Video Solution

5√6

√25

10√5

212. The number obtained to rationaslisng the denominator of

 is

A. 

B. 

C. 

D. 

1

√7 − 2

√7 + 2
3

(√7 − 2)3

√7 + 2
5

√7 + 2
45

https://dl.doubtnut.com/l/_fXXM2OxeZfhb
https://dl.doubtnut.com/l/_5VjGL1PyslO0


Answer:

Watch Video Solution

213.  is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

√9 − √8

(3 − 2√2)
1
2

1

3 + 2√2

3 − 2√2

3 + 2√2

https://dl.doubtnut.com/l/_5VjGL1PyslO0
https://dl.doubtnut.com/l/_vkimY7pdonbh


214. After rationalising the denominator of , we

get the denominator as

A. 13

B. 19

C. 5

D. 35

Answer:

Watch Video Solution

7

3√3 − 2√2

215. The value of  is equal to

A. 

√32 + √48

√8 + √12

√2

https://dl.doubtnut.com/l/_7CigsEhlowYB
https://dl.doubtnut.com/l/_DKOiDsUwDFq0


B. 2

C. 4

D. 8

Answer:

Watch Video Solution

216. If  then  is equal to :

A. 2.14142

B. 5.8282

C. 0.4142

D. 0.1718

√2 = 1.4142 √
√2 − 1

√2 + 1

https://dl.doubtnut.com/l/_DKOiDsUwDFq0
https://dl.doubtnut.com/l/_BWamjFQfj0IF


Answer:

Watch Video Solution

217.  equals

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4√3√2
2

2− 1
6

2− 6

2
1
6

26

https://dl.doubtnut.com/l/_BWamjFQfj0IF
https://dl.doubtnut.com/l/_7oZvEzVGlmRh


218. =

A. 

B. 2

C. 

D. 

Answer:

Watch Video Solution

3√2 × 4√2 × 12√32

√2

12√2

12√32

219. Value of  is

A. 

B. 

4√81
2

1/9

1/3

https://dl.doubtnut.com/l/_ZSY0QwP5ETYj
https://dl.doubtnut.com/l/_QgKzmnKOVdpp


C. 9

D. 

Answer:

Watch Video Solution

1/81

220. Value of  is :

A. 4

B. 16

C. 64

D. 256.25

Answer:

Watch Video Solution

(256)0.16 × (256)0.09

https://dl.doubtnut.com/l/_QgKzmnKOVdpp
https://dl.doubtnut.com/l/_tqeKfWjqpLcI


221. Which of the following is equal to x?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x12 / 7 − x5 / 7

12√x4
1
3

(√x
3)

2
3

x12 / 7 × x7 / 12

222. Write two irrational numbers between 2.4713 and 2.4742

Watch Video Solution

https://dl.doubtnut.com/l/_tqeKfWjqpLcI
https://dl.doubtnut.com/l/_Xp1Zlkse6Uhn
https://dl.doubtnut.com/l/_GD2kRBzrQwJp
https://dl.doubtnut.com/l/_1xmgL2B0dd1N


223. Check whether  is a rational number or an

irrational number.

Watch Video Solution

−
√63

√448

224. Simplify: 

Watch Video Solution

×
2− 1 × 2

(22 × 3− 4)
7
2

2− 2 × 32

(23 × 3− 5)
− 5

2

225. Represent 2.7295 on the number line.

Watch Video Solution

226. Repesent  and  on the number line.

h id l i

√5, √10 √17

https://dl.doubtnut.com/l/_1xmgL2B0dd1N
https://dl.doubtnut.com/l/_6J2b8eiDKmep
https://dl.doubtnut.com/l/_6fcuzfQUozRh
https://dl.doubtnut.com/l/_zN6aZQOAjikN


Watch Video Solution

227. Show that 0.142857142857 =

Watch Video Solution

1

7

228. Simplify: .

Watch Video Solution

4√81 − 83√216 + 155√32 + √225

229. Simplify: 

Watch Video Solution

( )
4

( )
−

( )
63

4

8

5

3
2 32

5

https://dl.doubtnut.com/l/_zN6aZQOAjikN
https://dl.doubtnut.com/l/_bBvxeB9NG7H0
https://dl.doubtnut.com/l/_SfrPuiTnaDjy
https://dl.doubtnut.com/l/_hiK7wacnHHd3


230. If  then find the value of 

Watch Video Solution

√2 = 1.414, √3 = 1.732

+
4

3√3 − 2√2

3

3√3 + 2√2

231. Visualise 3.765 on the number line, using successive

magnification.

Watch Video Solution

232. If x=  and , then find the value of 

Watch Video Solution

√3 + √2

√3 − √2
y =

√3 − √2

√3 + √2

x2 + y2

https://dl.doubtnut.com/l/_XfbFzfZI6eGo
https://dl.doubtnut.com/l/_iGbYBKyElxvT
https://dl.doubtnut.com/l/_HkbmIOTHPAvr

